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(History of Bengal 1905-1947)
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Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1, Arswer any three questions :

(a) What do you understand by the'National Council ofEducation'?

(b) What was the impact of the ideology of Atmashaki on the Swadeshi Movement?

(c) Write a nole on the Swarajya Party.

(d) What was the significance of the Tripuri Congress (1939)?

(e) What is meant by Provincial Autonomy?

(f) Wlat changes did the Indian lndependence Act (1947) bring to the boundaries of Bengal?

2. Alswer arrJ, ore question :

(a) Write a brief accounl on the role of women in the revolutionary movement of Bengal.

(b) Briefly discuss the rise and growth ofthe 'Krishak Praja Party'.

3. Answer arrl tr,, questions :

(a) Discuss the different phases ofthe Swadeshi Movement in Bengal.

(b) What was the impact ofthe Left Movement in the Bengal politics of the 1920s and 1930s?

(c) What was the impact of the Quit India Movement in Bengal?

(d) Discuss about the rise and growth of the Tebhaga Movement in Bengal.
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